ECONOMICS
SECTION-A

What does TRIMS stands for?

a) Trade Related Industrial Measures
b) Trade Related Investment Measures
¢) Trade Related Information Measures
d) Trade Related Innovation Measures

What is the Literacy rate (approximately) in
India as per Census 2011 __ ?

a) 74%

b) 80%

c) 85%

d) 6

“World Economic Outlook” report is
published by which of the following
institution?

a) IMF

b) World Bank

¢) RBI

d) UNCTAD

Which of the folwing year is known as “Year
of the Great Divide”?

a) 1951

b) 1991

c) 2001

d) 1921

Who is the father of Green Revolution in
India?

a) Norman Borlaug

b) M S Swaminathan

c) Manmohan Singh

d) |G Patel

In how many district Mahatma Gandhi
National Rural Employment Guarantee
Scheme (MGNREGS) was introduced in its
first phase of implementation?

a) 100

b) 150

c) 200

d) 250
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7. The first Human Development Report was

10.

11.

12.

published in which of the following year __?
a) 1990
b) 1999
c) 1995
d) 2000

Which of the following agency publishes
Human Development Reports?

a) WTO

b) UNDP

c) IMF

d) ADB

India is at position as per the
Human Development Index published in
Human Development Report 2015?

a) 125

b) 130

c) 140

d) 155

What does ‘T’ stands in ATM?
a) Teller

b) Talk

¢) Transaction

d) Tip

What does ‘M’ stands for in MUDRA
Scheme?

a) Medium

b) Micro

c) Maximum

d) Money

Economic Survey is published by which of
the following institution?

a) RBI

b) Ministry of Finance

c) CSO

d) NSSO
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13.

14.
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Where was the tenth ministerial conference
of World Trade Organisation held in 20157?
a) Nairobi

b) Bangkok

c¢) New Delhi

d) Washington

Sarva Siksha Abhiyan was launched in which
of the following year?

a) 1998-99

b) 2000-01

c) 2005-06

d) 2010-11

How much percentage of India’s
population is below the poverty rate as per
poverty estimate given by Tendulkar
committee report?

a) 21.9

b) 25.2

c) 15.7

d) 324
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SECTION-B
Given two Sets U = {59,—4} andV =
{—1,3}, which of the following statement is
TRUE?
a) —1€eU
b) —4€V
c) 5¢U
d 3¢U
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(x + y)(4x — 9y) is equal to
a) 4x?+9y%?+13xy

b) 4x% —9y? + 13xy

c) 4x?+9y%—5xy

d) 4x? —9y% —5xy

If (9x —3) = (51x + 4), then what is the
value of x?

a)
b)
c)

d)

Which of the following is NOT a function?
a) y=x3

b) y = x?
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Given f(x) = x2 + 5x — 7, which of the
following is f(—3)

a) —13

b) 13

c) —15

d 15

log,00.01 =
a) -1

b) -2

¢ 1

d) 2

Which of the followings’ value is zero?
a) logy,100

b) logqo 10

c) logip1l

d) logi0.01

u
ln(;) =
a) mu—Inv
b) Inv—Inu
¢) mu+nv
d Inu

Ine? =
a) e
b) e?
¢ —2
d 2

Iflny = —8x,theny =
a) —8x

b) e*
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28. Which of the following is A + B, if 28. T In e*=

a=[70 Dlandn=[2 ") a e
22 241 =7 % InV=Inu
a) |54 30] @ InU+InV
[ —2 2 e Inu
b) 10 28]
9 |12 —13]
2
9 1o —28]
12
29. Which of the following is AB, if A = 29. At A=[2.75]w B=[ 3 | ? = q A ==
12 @ A\B 2 2
[2 7 5]landB=|3]|? s 55
2
a)55 = Sg
b) 65 A . .
0 75 T INEd ¥ A FlS T8N

d) None of the above

30. Given A is 3 X 2 matrix and B is 2 X
5 matrix, AB would be a 30. A, 3x2 dfgea won B,2x5 dfgaw fow w2,

a) 2 X 2 matrix AB = g
b) 3 X 2 matrix o 2x2 ille\;aa

¢) 5x 3 matrix q  3x2 Afeaw
d) 3 x 5 matrix w 5x3#feww
T 3xbdftww



SECTION-C

31. Ifq = (5v —1)/v, thenlim =
Voo

@ 5 31 afe q=(5v-1)/v, 7a &= (Limit) v - oc =
(b) 5v 5

(c) Limit does not exist T 5V .
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37. Afunction f(x) has a local maxima when
(@ f(x) <0
(b) f(x)=0and f(x) <0
() f(x)=0and f(x)>0
(d) f(x)=0and f® =0

38. f(x) = x3 — 3x has a local maxima at x =
(a) —1
(b) +1
(c) Both (a) and (b)
(d) None of the above

39. f(x) = x% — 4x is minimum at x =
(@) 1
(b) 2
(c) 4
(d) None of the above

40. f(x) = 4x — x?is atx =2
(a) maximum
(b) minimum
(c) saddle point
(d) All of the above

41. f(x) =5+ 4x —0.5x%is at
x =2
(a) maximum
(b) minimum
(c) saddle point
(d) None of the above

42. [2xdx =
(a) 2x%+c
(b) x> +¢
(c) 2x2
(d) x?
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43, fidx = 43. w7 () 1/x dx=

(@) x+c X+
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SECTION-D

46. A company pays Rs. 10 lakh per month in

salaries to its workers. If there are 50
workers, then the average monthly salary
of workers is

(a) 10,000

(b) 20,000

(c) 5,000

(d) None of the above

47. If the average wage rate in the economy is

Rs. 200, then which of the following is

TRUE.

(a) Labour earns Rs. 200 daily

(b) Labour gets Rs. 200 whenever they
work

(c) Mean of the wages that labour gets for
working is Rs. 200, but actual wage may
be more or less than Rs. 200.

(d) None of the above

48. Which of the following is NOT TRUE for

mean?

(a) mean is influenced by extreme values

(b) mean does not incorporate all
observations

(c) mean represents the centre of
distribution

(d) All of the above are true

49. Last year a small company paid its five

workers Rs. 2 lakh each and two engineers
Rs. 5.5 lakh each. The mean salary of its
employeesis .

(a) 3

(b) 3.75

(c) 4

(d) 2

50. The weight in kilograms of 5 students is 65,

75, 70, 60 and 65. The median weight of
the students is

(a) 70
(b) 60
(c) 65
(d) 67
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51. Which of the following represents the
relationship between mean, median and
mode?

(a) Mode =3 median -2 mean
(b) 2 Mode = 3 median - 2 mean
(c) Mode =2 median - 3 mean
(d) None of the above

52. What is the geometric mean of 2, 4 and 8?

(a) 2
(b) 4
(c) 8
(d) None of the above

53. If the economy grows at 6 percent in the
first year and 8 percent in the second,
which of the following can be used to
calculate average growth rate.

(a) Mean

(b) Median

(c) Geometric mean
(d) Harmonic mean

54. Harmonic mean of 2 and 3 is
(a) 2.5
(b) 1.3
(c) 1.6
(d) 2.4

55. Which of the following problem is

associated with range?

(a) Itisinfluenced by extreme values

(b) Its calculation does not include all
observation

(c) Internal variations in data are not
included

(d) All of the above

56. Mean deviation is minimum if calculated
from of the observations.
(a) mean
(b) median
(c) mode
(d) All of the above
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57. Standard deviation of three numbers, 2, 3
and 4, is

o
(b)

(c)
(d)

WNWwwIN

58. Probability of an event is zero if
(a) it has no chance of happening
(b) it always happen
(c) has balanced chance of happening
(d) None of the above

59. Two events are mutually exclusive if their
probability of happening together is

(a) O
(b) 1
(c) o
(d) between 0and 1

60. The concept of Rank correlation was given
by ?
(a) Pearson
(b) Spearman
(c) Fisher
(d) Smith
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